>
A & 0l & AF 2 E A A
0179 = S0l& LA 2EAF A
M BAFH Y
Mo COALE
Sl BREARIYRE CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
SAHE MY 60,716,280 54,200,872 6,515,408
= 14,765,819
Xl 1,200,000
J| 27,237,920
< 17,512,541
coALSH 59,906,474 53,600,674 6,305,800
= 14,765,819
Xl 1,200,000
J| 27,207,867
< 16,732,788
SSEHYRIER = 14,644,763 10,473,439 4,171,324
= 8,333,221
< 6,311,542
SHE BAHAS AHHIA & ALY 2,827,707 1,409,247 1,418,460
= 2,262,165
< 565,542
403 XIS E X201 & 2,827,707 1,409,247 1,418,460
=2 2,262,165
< 565,542
01 X SHHX2E = 2,827,707 1,409,247 1,418,460
OsHEEHAZ MHIAMEALS 2,827,707
2 2,262,165
= 565,542
Ngozds JIs2et 1,200,000 120,000 1,080,000
= 600,000
< 600,000
402 QI2H X201 M 1,200,000 120,000 1,080,000
2 600,000
< 600,000
02 QI EAILSEZ (01X THS) 1,200,000 0 1,200,000
O&FFozd FHEZ 1,200,000
2 600,000
< 600,000
OsF2dz 2 HHEZ 0
NLY=2d IIsSds A 5,040,000 2,700,000 2,340,000
2 2,520,000
= 2,520,000
402 RI2EX20| 5,040,000 2,700,000 2,340,000
= 2,520,000
< 2,520,000
02 QI 2 A EZ (O THE) 5,040,000 0 5,040,000
O&F=Foza A4 2,700,000
= 1,350,000
< 1,350,000
Oz & &l 2,340,000
= 1,170,000




SH: BAEMY
HM: TOIHUSE
Sl BREARIYRE CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 1,170,000
OFx92 Al 0
EFo= AL 5,252,000 5,251,786 214
=2 2,626,000
= 2,626,000
201 2Et24Hy| 5,252,000 5,251,786 214
= 2,626,000
= 2,626,000
01 AP 22| H| 5,252,000 5,251,786 214
OEFo=d A= 5,252,000
= 2,626,000
= 2,626,000
Xeo28 ozl XA 265,056 214,656 50,400
= 265,056
307 212t0| & 265,056 214,656 50,400
= 265,056
02 DIZEBAAIE E X 265,056 214,656 50,400
OXgogd ozoa X 265,056
= 265,056
22824 T2 )2 AlY 60,000 60,000 0
= 60,000
307 2Iz2to| & 60,000 60,000 0
= 60,000
02 QIZ2IA AAIE E X 60,000 60,000 0
OF=x9=d 30,000
= 30,000
Os=x9zd 30,000
= 30,000
ALME AN MEG 16,567,977 16,751,373 A 183,396
= 445,911
Xl 1,200,000
Jl 11,496,307
= 3,425,759
KNEAS SEHLSEAY 5,269,587 5,278,624 N9,037
J| 4,335,484
= 934,103
201 et d| 6,516 2,516 4,000
J| 3,258
o= 3,258
01 AP 22| H| 6,516 2,516 4,000
Ogst=2H| 6,516
J| 3,258
& 3,258
202 04| 5,000 6,502 A 1,502
J| 2,500




SH: BAEMY
dM: CoAL2SH
ol AYME AF MHF CER-ED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
== 2,500
01 = LH o4 1l 5,000 6,502 A 1,502
OsgdZdsTAY =X 5,000
J| 2,500
< 2,500
303 &3 2,000 2,000 0
J| 1,000
= 1,000
01 Z& = 2,000 2,000 0
OSgdZSTAY =8 Za=s 2,000
J| 1,000
< 1,000
307 glz2+ol & 97,000 97,000 0
Jl 48,500
< 48,500
02 It MAHEE 97,000 97,000 0
OSEHLSIMIXAL 2 97,000
J| 48,500
< 48,500
308 XX EHH SOl A 5,159,071 5,170,606 A 11,535
J| 4,280,226
< 878,845
01 X HHILEES 5,159,071 5,170,606 A 11,535
Os38=s =250 DXNES A 57,000
J| 28,500
< 28,500
OANlZ SEALSE A 5,102,071
J| 4,251,726
< 850,345
SHIJAME A 22| 52,438 2,387,913 A 2,335,475
J| 26,219
< 26,219
201 Let24E] 52,438 36,000 16,438
J| 26,219
< 26,219
01 At 22l 52,438 36,000 16,438
O=9 X3 AN A E2H] 52,438
J| 26,219
< 26,219
A2 XGA S SHNJAMEA 2,380,238 0 2,380,238
J| 1,983,532
< 396,706
308 MtXIEHSOIH 2,380,238 0 2,380,238
J| 1,983,532
< 396,706
01 HXNHHNBHEELS 2,380,238 0 2,380,238




SH BATHY
Mo COALE
Chelr ALME ME ME3 (el @2)
SA - BB B () - MM - BES Ol &t o San HmEET
OAl - & NG Asl=a SAHXA AHIA 2,380,238
J| 1,983,532
< 396,706
HAsEE 39Xz X 286,614 0 286,614
J| 286,614
307 glz2tol & 286,614 0 286,614
J| 286,614
05 RIZt2IE = 286,614 0 286,614
OMASE =EIZE N 286,614
J| 286,614
Ol=0F ¥ A& SH0I&0t of=Hl K& 106,875 909,000 A 802,125
J| 71,250
< 35,625
308 XXIEHHSOIA 106,875 909,000 A 802,125
J| 71,250
< 35,625
01 HXNHHNBHELS 106,875 909,000 A 802,125
O D=0t & AdFA0l&0F A =SH XA 106,875
J| 71,250
< 35,625
S LHALOI & ZAH 2 S0kt 266,400 0 266,400
J| 177,600
< 88,800
308 XX EHSOIA 266,400 0 266,400
Jl| 177,600
< 88,800
01 HIXNHHBNEES 266,400 0 266,400
OddEd HAIOla B AH & Eot2el 266,400
J| 177,600
< 88,800
AAOE ZIIHAE ALY 25,500 0 25,500
J| 17,000
< 8,500
308 XXIEHHSOIA 25,500 0 25,500
J| 17,000
< 8,500
01 AXHHILEES 25,500 0 25,500
O&lMoF B8 HA 25,500
J| 17,000
< 8,500
HYRE XFAS 2,593,950 1,954,800 639, 150
J| 1,729,300
< 864,650
308 MtXIEHMSOIH 2,593,950 1,954,800 639, 150
J| 1,729,300




SH: BAEMY
dM: CoAL2SH
ol AYME AF MHF CER-ED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 864,650
01 IXNHHBNEES 2,593,950 1,954,800 639, 150
HYREX A 2,593,950
J| 1,729,300
< 864,650
HEEIUABH=E HA 9,750 0 9,750
J| 6,500
= 3,250
308 XX EHHSOIA 9,750 0 9,750
J| 6,500
< 3,250
01 X HHILEXS 9,750 0 9,750
OEEZ2NEA+E WE 9,750
J| 6,500
< 3,250
FAEAME AAEL O/FZH XBASY 35,100 0 35,100
J| 23,400
< 11,700
308 AHXIEHHSOIA 35,100 0 35,100
Jl| 23,400
< 11,700
01 HIXNHHNBMNELS 35,100 0 35,100
OFAHAR JASL ofgH XA 35,100
p] 23,400
< 11,700
DASEUNME o2 Hl XA 192,000 0 192,000
J| 128,000
< 64,000
308 XXM SOl A 192,000 0 192,000
J| 128,000
< 64,000
01 AXHHILEES 192,000 0 192,000
OlnRgdas ozt XA 192,000
J| 128,000
< 64,000
HAEE JIIMAH, ZHES NIAMZ 518,867 514,434 4,433
= 345,911
< 172,956
308 XtXIEHH SOl A 518,867 514,434 4,433
= 345,911
= 172,956
01 HXNHHBHELS 518,867 514,434 4,433
OMASE JIMA, ZMES NI MY 518,867
= 345,911
< 172,956




M BAFH Y
Mo COALE
Ee AUME A M) (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
M2 ANt 2t e K& ALY 1,200,000 1,400,000 200,000
X 1,200,000
308 AHAIEHHSOIA 1,200,000 1,400,000 200,000
Xl 1,200,000
01 HXNHHBHELS 1,200,000 1,400,000 200,000
O&tZAIMotAZ 22 Ab X & 1,200,000
Xl 1,200,000
ROtIt= ARt 150,000 150,000 0
2 100,000
< 50,000
308 XXM SO0 A 150,000 150,000 0
2 100,000
< 50,000
01 IXNHHBNEES 150,000 150,000 0
O0otIte a2l 29 150,000
= 100,000
< 50,000
=tk ztel 901,696 1,869,015 A 967,319
J| 649,597
< 252,099
307 21201 A 163,486 160,000 3,486
J| 81,743
< 81,743
02 B AAHEX 163,486 160,000 3,486
OXNSSEEH &2el At 163,486
J| 81,743
= 81,743
308 X EHSOIA 738,210 1,709,015 A 970,805
J| 567,854
S 170,356
01 HIXNHHNBMNEES 738,210 1,709,015 A 970,805
og =2J1&8d 738,210
J| 567,854
= 170,356
28X XI& AL 940,311 0 940,311
J| 723,316
< 216,995
308 XXM SOIA 940,311 0 940,311
J| 723,316
= 216,995
01 XML EES 940,311 0 940,311
Ogsetxt 2lgdl XA 940,311
Jl| 723,316
< 216,995
ABTTULZTAK AL A 139,332 192,327 £52,995




SH BATHY
MY COAYEN
Chelr ALME ME ME3 (el @2)
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
Pl 129,611
& 9,721
308 XHXIEH SO0l A 139,332 161,207 N21,875
J| 129,611
&< 9,721
01 AIKSHHEMNEX= 139,332 161,207 N21,875
O 22X HLAE ALY 139,332
J| 129,611
& 9,721
A0 ALHA 21,952 39,928 N 17,976
J| 20,419
=} 1,533
308 MXISHMSOIA 21,952 39,928 N 17,976
J| 20,419
& 1,533
01 IXHHIMNEEXTZ 21,952 39,928 N 17,976
OER0F HA2HX 21,952
J| 20,419
& 1,533
RO AAHE =2H| 13,975 0 13,975
J| 13,000
= 975
308 XXIEHSOIA 13,975 0 13,975
Jl 13,000
= 975
01 AIXSHMENMNEX= 13,975 0 13,975
OgR0t A#A22X =2H| 13,975
J| 13,000
& 975
A0 LA HLAAH X 8,594 0 8,594
J| 7,994
& 600
308 XHXIGH SO0l & 8,594 0 8,594
J| 7,994
& 600
01 AIKSHHENEXZ 8,594 0 8,594
OER0F L& HLAAH X 8,594
Jl 7,994
= 600
MOfMED] ALHKE 36,859 40,614 A3,755
J| 36,859
308 XX SHHSOIH 36,859 40,614 AN3,755
J| 36,859
01 HXHHIMNEEXTZ 36,859 40,614 N 3,755
OAT MOHAEED] HA2HEA 36,859




SH BATHY
Mo COALE
Ee AUME A M) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
| Jl 36,859
T g azEE gAY 73,750 100,000 A 26,250
J| 36,875
< 36,875
303 L&t 3 1,400 1,400 0
J| 700
< 700
01 243 1,400 1,400 0
OdLg2EE o2 I 24 1,400
J| 700
< 700
307 21201 A 72,350 96,600 A 24,250
J| 36,175
< 36,175
02 QB HAANGFEX 72,350 96,600 A 24,250
Odgaza HeL2AMBNIH2 I 72,350
J| 36,175
< 36,175
AL gaEE oflg2el M2 (FMTP) 21,000 21,000 0
J| 21,000
308 XtXIEHH SOl A 21,000 21,000 0
J| 21,000
01 HXNHHNBHEELS 21,000 21,000 0
Odzgazs egae d2dn=E 21,000
J| 21,000
2= =3I FAH A& 14,400 14,400 0
308 XX EHSOIA 14,400 14,400 0
01 HXNHHNBNEES 14,400 14,400 0
OdsSY xS0t HAH X 14,400
KA AS] A2 E AL 315,897 321,452 A5,555
J| 315,897
308 XXM SOl A 315,897 321,452 A5,555
J| 315,897
01 IXNHHBAMNEES 315,897 321,452 A5,555
OAlZ2 XIS A2l A2 A 315,897
J| 315,897
KNSBASI AL ZAL SH M L2t 9,000 9,000 0
307 giz2tol & 9,000 9,000 0
02 IAHFAAHEX 9,000 0 9,000
OXGAE A2ZAL SHHR &2t 9,000
S| AL EHEA o2 HI X 983,892 1,306,436 A 322,544
J| 756,840
< 227,052




<

n0

Kio

Hl w

N 322,544

N 322,544

N 195,442

A 1,000

21,000

A 1,000

180

180

180

9,414

9,414
9,414

39,000

39,000

39,000

H3r
Wikd
RIS

1,306,436

1,306,436

3,741,665

11,200

10,000
10,000

1,200

1,200

20,000

20,000
20,000

4,560

4,560

4,560

9,300

9,300
9,300

157,340

157,340

157,340

776,000

776,000

776,000

Off &t 24

983,892
756,840
227,052

983,892

Jl

H

983,892
756,840

227,052

Il

3,546,223

fi

458,000
1,995,181

H

1,093,042

11,200

10,000
10,000
10,000

1,200

1,200
1,200

19,000

19,000
19,000
19,000

4,560

4,560

4,560

4,560

9,480

9,480
9,480
9,480

166,754

166,754

166,754
166,754

815,000
815,000

J|

815,000
815,000
815,000

J|

ors

=
=)

308 A+XI A

H3dEXS

01 XX

!

S22 Al

KJ
Kk
oF
ol
i
H

30
0K
oJ
oll

01 AtR 2t 2l |

00
<F
20
R0
]
ol

KJ
K
ok
ol

Kl
K

=X A
TeEse T

03 Al

O
i

Rr
ol
i
iz}
Kfo

30
0p
]
ol

201

2teld

01 ALS

0Fr
E]
oF

Rr

ol
)

Ko
Mo

=

ol

<4
4

ol
Y
H
K0

30
0K
o)
oll

01 At 2t 2l bl

N
=

ol

<
3

of
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iy
Ko
Mo

128+ 1S

2
=

380,000

OFr
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H
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Ho
00
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Kl
i

ors

=
=)

308 A+XIEHH

01 XX

o)

fr
o)
K
iyl

4
v

Kl
Y

n

ord

=
=)

308 A+XIEHH

M0

H0

H

H

30
O
70

Al
KJ

ol
[l

I
of
Mo
010

307 glztol &

Kd
H
[
<0
R0
~J

ol




2N
X ZH -
L= B

el

5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

Oszgzgla gdZz g 23| 815,000
J| 815,000

=22+t zelze 8 29 6,000 6,000 0

308 XXM SO A 6,000 0 6,000

10 B2 SO BAHH A 6,000 0 6,000
O0l=sS2siit2elzd s 29| 6,000

X 2 2SS 82,000 63,174 18,826
J| 41,000
= 41,000

307 21201 A 82,000 63,174 18,826
J| 41,000
= 41,000

02 It S AHE L 82,000 63,174 18,826
O==x & E2xXdxu=E 82,000
J| 41,000
< 41,000

S22 N3 dH 22d XI& 147,800 147,800 0
J| 73,900
< 73,900

307 glz2tol & 147,800 147,800 0
J| 73,900
< 73,900

02 It M AHE X 147,800 147,800 0
O2=2dzsNEME 234 X 147,800
J| 73,900
< 73,900

A WHEE=s2A=E 22X 28,000 26,000 2,000
J| 19,600
< 8,400

201 L2l 7,000 7,500 A 500
J| 4,900
< 2,100

01 At 22l 7,000 7,500 A 500
OXE MHHBEHES2ASE uW= 7,000
9] 4,900
< 2,100

308 MtXIEHMSOIH 21,000 18,500 2,500
J| 14,700
< 6,300

01 HXNHHBHELS 21,000 18,500 2,500
OXg MHHSEFES2AZ2E 24 N 21,000
J| 14,700
< 6,300

22992 HSHY 243 106,330 123,210 A 16,880
J| 74,431




2N
X ZH -
L= B

el

il

=
gl A

HL H HD
ey
1oy ox
U oy g

x 0 &

At

0

SN EB S (3H) - NEAY - BES ofl &k o San HDE2

== 31,899

402 QI2F X2 0| & 106,330 123,210 AN 16,880
Dl 74,431
= 31,899

02 BIZIXIEANYE X (OIETHH) 106,330 0 106,330
o202 & 2SS 25 106,330
J| 74,431
o= 31,899

FAX S22 0|12 SIS 924,750 851,000 73,750
Dl 924,750

307 212t0| & 924,750 751,000 173,750
Dl 924,750

02 I2tF AAIH B X 924,750 751,000 173,750
OFAX 3= 012 29X 924,750
Dl 924,750

MNSHAsI X K& 28,500 30,375 N 1,875
Dl 19,000
= 9,500

403 XtXISHH S K201 28,500 30,375 N 1,875
J| 19,000
& 9,500

01 AXHXMAEE = 28,500 30,375 N 1,875
OXNESHHMEI X XN 28,500
Dl 19,000
& 9,500

=W MHHzXd 289 55,000 46,000 9,000
Dl 27,500
[ 27,500

307 QI2t01 ™ 55,000 46,000 9,000
Jl 27,500
< 27,500

02 Q2B AMAIEE =X 55,000 46,000 9,000
O=L2 MHy X 55,000
Jl 27,500
= 27,500

FOhF X XS ALY 720,000 560, 000 160,000
= 450,000
& 270,000

308 XX SHH SO0 A 720,000 560, 000 160,000
= 450,000
== 270,000

01 AIXHMBAAEXZ 720,000 560,000 160,000
OS20HF 2R X ALY 720,000
= 450,000
< 270,000
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SH: BAEMY
Hu: COALEA
Sl BAOADMHIA A EERED
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OA=0&x 4 d22¥ NFAY
100, 000& *2002| *50% 10,000
FAUEAMALAD LS 9,528,845 9,434,526 94,319
= 5,319,581
J| 2,103,400
< 2,105,864
FAFAMALSAEE 2 792,000 768,800 23,200
J| 396,000
< 396,000
307 21201 A 792,000 768,800 23,200
J| 396,000
= 396,000
05 BIZHRIE 3 792,000 768,800 23,200
OZBAFUAL MY 29 792,000
J| 396,000
< 396,000
FAUALSTHEH 29 1,434,720 1,393, 140 41,580
J| 1,024,800
< 409,920
308 XXM SOl A 1,434,720 1,393, 140 41,580
J| 1,024,800
< 409,920
01 IXNSHHBNEES 1,434,720 1,393, 140 41,580
OAlZ BHAZ2SdEH 29 1,434,720
J| 1,024,800
< 409,920
FAUHLEAEEH S SAXNF HMAH X2 53,520 0 53,520
307 21201 A 16,800 0 16,800
03 IAHMEE2HHIES 16,800 0 16,800
O JUALSHEH ML 16,800
308 AHAIEHHSOIA 36,720 0 36,720
01 HIXNHHNBMNELS 36,720 0 36,720
OANZ BUALSEEE MM 36,720
M EXNSRE JAUALSA A 32,000 32,000 0
J| 32,000
307 glz2tol & 32,000 32,000 0
J| 32,000
05 RIZHRI &t 3 32,000 32,000 0
OMEISINEFE FHAZSTAY 32,000
J| 32,000
OlSEAEEHAUBAAY 550,000 550,000 0
J| 275,000
< 275,000
308 XtXIEHH SOl A 550,000 550,000 0




SN BAFYY
Mo COALE
&2 FABAMAIES (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Jl 275,000
= 275,000
01 IXNHHBNEES 550,000 550,000 0
OAlZ Ols - 449 ZAUEAAY 550,000
J| 275,000
< 275,000
Aoy & FAALSTAY 390,000 390,000 0
J| 300,000
< 90,000
308 XX EHHSOIA 390,000 390,000 0
J| 300,000
< 90,000
01 AXHHILEES 390,000 390,000 0
OAlZ Xraog & FaATSTAY 390,000
J| 300,000
= 90,000
AN =ML X=H X3 36,000 36,000 0
308 AHAIEHHSOIA 36,000 36,000 0
01 HIXNHHNBHEELS 36,000 36,000 0
OAlZ X&AE8X =MLY=l X 36,000
s=oe SEXNJALH 29 98,280 95,485 2,795
J| 75,600
< 22,680
308 XXM SO0 A 98,280 95,485 2,795
J| 75,600
< 22,680
01 IXNHHBNEES 98,280 95,485 2,795
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307 glz2tol & 11,400 11,400 0
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02 It M AHE X 11,400 11,400 0
OM=EH OISZAMHA 294 11,400
J| 5,700
< 5,700
308 XX EHHSOIA 28,000 4,300 23,700
J| 14,000
< 14,000
01 AXHHILEES 28,000 4,300 23,700
OMEH =ZSUHESRA =&l 28,000
J| 14,000
= 14,000
gELddE X2 4,400 8,800 A 4,400
J| 4,400
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01 = LH 4 1 6,000 6,000 0
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OogdsE+Y 100,000
OlOI= Ol AL 40,000 40,000 0
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oolol=oe & =3W= 40,000
OOl & 0 166,344 97,545 68,799
J| 127,957
< 38,387
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